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Direction (Question
that lollows : Ne.1 to 5): Reag ), pa

“Not all agriculy
ira
nﬁraugf'l_ nfre sidge of sl COMe vivilizations, but ne civiligation can become one without passing
productivity improyey N n".'""' This is because at some crage in the development of agriculture, as
O people ould mesd o be ("ngj'#‘ld in producing or procuring food. A

significant number of Beos
T ITIHIENLs Jor new c:‘p et ivities such as building walls or

creating new artisgic = “INE new 1p0ls, weapons and jewellery; organizing long-distance trade;
CONSIIuCting new pypy; asterpieces; coming up with new jnyentions; keeping accounts; and perhaps
of agriculture, thys :F rastructure such as irvigation canals that further improve the productivity
This can happen ¢ :-‘a iZing even mare people 1o do new ihings, eproye =
at some stage iy i1 t,::ﬁm?' only if a Society that has transitioned to high productivity agriculture has also,
the ancient world, th. ution, found q way to channel the bonanza of free time info other work fruitfully. In

» 1his often involved creating new ideologies and new hierarchies or power structures to

erwi: : _
rise convince large groups of people to devote their time (o the new tasks for very

ssage and angwgr the four choices given afier cach question

{ Societ es be

coerce or ot

h'm'e reward.
1=

?A‘;‘g"*ﬁt‘;‘z‘;‘ number of people were sent to carry out other work from agriculture because :
. € were insufficient agricultural products.
) people were needed to build monuments, weapons, jewellery, etc.
there were sufficient agricultural products.
dD) this cnabled the development of civilizations.

2. Which one of the following statements is true according (o the author ?
LAY Agriculture has always been part of all civilizations.
(B) Not all civilizations have undergone the processes of agriculture.
(C) Agriculture gave birth to new civilizations.
(D) Commumities discontinued agriculture to become civilizations.
3 Which waord in the passage means ‘changeover’ ?
Ay Transitioned
(B) Channel
(C) Coerce
(D) Hierarchies
4. People as groups were convinced to do new wprk through :
(A) reward. force and community persuasions.
(B) ideologies. hierarchies and power structures.

) excessive agricultural products.
(D) very high rewards.

5. What kind of agriculture basn?d soci
( Societies which achieved h

for other work
(B) Societies whic l
move 1o many places. of agriculture to another.
ol L e sitinned from one stage of agrl
(C) Societies which transition urc for lack of resources moved to other work.

S : agricult :
Socictics which el et Choose the alternative which best meaning of the

eties would emerge as civilizations? : e
igh productivity i agriculture had the opportunity to find ume

h depended on agriculture completely moved to other fruitful work so as o

D ! i
Direcnfo:s . In this question, four alternatives are given
g < s took Cue from her brother and became successful :
The S8 |
¢ Mn:ome help
“(B) a hint

C some mm:le)’
ED; learnt acting
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16. U= wWifke &t wiavf @ @ -
(A) WEl @fth W fawg T8 5
g : 7 e
@) 9 3% S T ) ot 8 e
(© et R v e
D) R AR B B W vy g e wn
17. riecg & @47 " T4 § 7 :
(A)  @fen am 3R auEn
(B) g F HEE TR
(O &3 Fuwn @R 7e TS
(D) oY aUvT AR HfoA TR
18. &) ¥ fw Ren & grgve &g B 7
(A) RN @
B)  AonRd HeRT @)
(C) TPl B

©y" T DR T

19, frg 2w § ey fres @ aRee 7 @ 2
qReay #

“®  Sww

© ®F

(D) e |
20. ﬁﬁﬁ&ﬂmﬂﬁ?ﬂﬁ@ﬂﬁ?

(A) SreTgd

© IETEN
21. W’WWW%?

Jpr RTE

(B) g

© A

(D) HHT
Mn 12023 [Page- 3]
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32, e @ da # ER @
amavard) @ et

(A)
(@) oF 3 ER gy A @ 1
e SR Fed iy 9! e
D)~ & EErE
23, “Tow @ A RIS HE A 27
(A) NTR T
(B)
(C) OIE
@ W
2 foy v® B 0 GE 87
(A) i
D) NG
) e
(D) < EET]
25, o @ B
) S
(8)  wIfad
C)  HER
(D) =T
26, ‘oww w@ @ s B U A FHE ?
(A) @ i
B I
()
NS ) I )
27. fber ¥ P AW @ 7
(A) THIRY '
(B)  mdmE
() ]
Wy 27
28. W IR 8
(A) TSM
(B) W
[ fRaw
Py "

(A '
,(g} T A T 3 AR W

A ¥ 3@ e
«ﬁr m%mwmgfl'
30. %-meml
e
(B T
SE) I
@) e
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Directions (Question Nos 31 to 35

Select the related |
ted letter/ / i
Ry er/word/num s, from the ﬁﬁﬂ (e 'HO'“3‘I kil 3ﬂj
3l. IfGUN Ry o Rl § | FRd e /T /e
: PE:{U\ R VG Find the coda f 7 B
: N. code fr 1. 7R GUN HIHVO T T H wifea fmar T
*A)  QFO # <t (@ew) PEN @ for @ ?
£ S a1 (@dH) PE L 1]
(©)  RST "ﬂ‘ g;?
(Dy NOT ((t‘]} RST
32. (1) Scissors : Cloth :: ? (o, MOk
(A) Axe : Wood o Wl Tl Aol
(B)  Stone: Grinder A T e
f'L,‘, Kaife : Stonc (B) TR ¢ T
(2 Sickle ; Brick (cy Tig:TeER
] iCTS
a9 T : gﬂ
33.  Arrange the words gi i ! m}c@‘ G
[ given below in a 3 3 ] i
meaningful scquence : : ke mﬂa’ﬁ&q e g
1. Family i
2. Community 1. HRaR
3. Member 2. HgH
4. Locality 3, e
5. Country 4, ®IAT
(A)  3,1,24,5 ]
y L ﬁ‘iT
(B) 3,1,2,54 ;
L (A) 3, 1,2,4,5
AC) 3,1,4,2,35
"3'
(D) 3,1,4,572 e 3 L
# <) 3.1, 4.2,
(D) 3,1,4,5

34.

Anil walks a distance of 03 km. towards
north, then turns 10 his left and walks 02 km.
He again turns left and walks of 03 km. AL
(o his left and walks for

this point he tums
kilometres is he from the

03 km. How many
starting point ?

82
14, g IR @ AR 03 Rodo T & AR
T & 3w o2 frodlo e B
7 fi & a g 3R o3 Reodo =
3 30 Ry 78 A T R e § 8N

(A) 01 km.
(B) 02 km.
(€) 03 km.
(D) 04 km.

(Series-D]

03 S0 wewn &) 78 S fig R R
frodio @ #7

y o1 fodo

@) 02 oo

© 03 oo

0y o4 fForiio
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{D} I l—lfiﬂﬂs'cs 7
34 Find thg
oy - 12
(B) 14
o
(D) 13

i ich is the
7 Outofthe given answer figures, \;hnlt; s the
& correct one 10 replace the empty box !
Question Figures :

U

(A) A
B C
(© B
i

38. Look at this series ;
07, 10,08, 11,09, 12,.. . . .
What number should come next ?

A 0
B) 10
% 12
D 13

39 A man walking towards east takes a 270°

clockwise turn and starts walking. In which

direction is he walkin now ?
(A)  South ;

B)  West

(C©)  East

D) Nomp

15,

6.

AT

38.

39.

et ) WA gra Wiy ?

—

40,

(A) 13
(B) 15
('-.} IG 41.
(D) 14 v
Pt @ e g A ?

Rir
(A) 12 e
(B) 14 iz
o i p
(D) 13 i

< g SR APl § B, g e B
WA W PH- gl w8 2 ?

Question Figures

(=] [ [wi N

Answer Figurcs .

Qlajafal

(A) (B) (&) D)

LA
[B)e O
€
(D) D
79 N Bl <

07, 10,08, 11,09, 12, . ...
A PG dEm I wifEy ?

(A) 07

B) 10

T8, PR IR 1o,

(D) 13

v@ @t g7d B AR Te gy ud @ e
¥ g70 N Fear ® AR TN AR I
Y Rmiga e ?

(A) SR

®) ufEm

(€ T

p) TR

[CET-BED : 2023]
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40. In a row of 40 stude
the right of Saurabh, w
right end. Then find th
the left end ?

nts, Shculn is 5§t
h“ is 18
2 rnnk of

1-I'E1r||
from the
Sheeln from

(A) 30
(B) 29
© 26

<Dy 28

41. Three _of the following four |
are alike in a certain W, euer:clusters

diffcrent. Scicet the odd on 1y and ope g

(A)  IMSU 2
(B) IMPV
~«€) YTSR
(D)  AEKM
2 uestion Nos.42 to 43

Read the given information and apgye, fis
que_stinns asked by choosing the most appropriate
option ;
42, Identify the reasoning in the following
argument :
“A person withoul a goal is like a computer
withourt a program,”

(A) lypothetical
(B) Deductive
(C) Inductive
(D) Analogical

43.  Given below are two statements :
Statement-T : To obvert a proposition, we
change its quality and replace the predicate
term with its complement,

Statement-IT : Obversion is valid for any
standard form categorical proposition.

In light of the above stalement, choose the
correct answer from the option given below:

(A) Both statement I and statement 11
are true

(B) Both statement I and statement [l
arc false

(C) Statement I is truc but statement 11
is false

(D) Statement I is false but statement IT
is true

44.  Which of the following is correct 7

U
A A is subset of B
EB)) B is subset of A
(C) U is subset of A and B
(D) U is subset of A
[Series-D]

40,

41,

43.

e o~ r: 16 | 2
W[oooe| [W|0Ee0| |* oz
Aol 1 ol WeeU | ay '.
VBP0 | SECE e | & phgi i
008 | |18 o, @O Iy
| 4 | .' = 70 ﬂ.—I t | .
) 45 | (ANE 1 "
i 2GRN @]
| | 6| BOO 71 U )
o4 | @ g : 72 '.'E"Q'@',' ]1?2
.| (O
& 56“ Al
B

Prtfed 7% § T @) T5AE D

wfcr ) T ey T WO B HFYER

S B[

(A) A

(B)

(C) SIS

(D) TN

#r < we Ry g E

-1 ; e qEAE B 9w @ ol #
IEd T B ween € o R 0
wwd [ § sfritd ¥ g

-1l : oy e | AE W A
v @ o A E

TR U @ e % A Ry
st ¥ T 98 IR @ TR B

(A) 1IN T 1R €

(B) mmﬂhmna‘m‘fw%
(©  FOFIL Y ¥ AP HI I
(D) U1 T & Qe B 11T 8

frfeia # ¥ P T 8 2

AA)
(B)
(€)
(D)

g TRy
[CET-BED : 2023]




i5.

45. Look at this series :
uaz, v29, , X23, Y20, .
What number t.huuld {ill the h!anlt i
{A) W26
LE)] W17
5 o/
(m Z26

46. A person writes all the numbers from 0 TCIP 99, 46.
The number of times digit 3. will be written

'qq'alfmt)@lgg

g e @ &
U3z, V29,

T aidl St al
(A) W26
(B) wi7
@ 217
(p) 226

X23, ¥20, .
) o @ w7

219 3 ﬂwmmﬁrm?

is:

(A) 18
.AB) 19
(8] 20
(D) 21

(A)
(B)
(€)
(D)

18
19
20
21

47. Arrange the following words in a 47,
meaningful sequence :
1. Bill
2. Treatment
3. Doctor
4. Diagnosis
5. Patient

T

1. fa
2, 3udr
3. SR

A)
(B)
(©)
(D)

48. A book always has :

&)
(B)
©
(D)

49. Find the median of the given set of numbers:
2,6,6,84,2,79

(A)
(B)
©
D)

50. Find the sum of all numbers divisible by 6 in
between 100 to 400 :

(A)
(B)
©
(D)

_U'lt\-'lt\l_ua

s
|
3,
2

i

Pages
Story

Binding
Content

6
8
4
5

12, 550
12,450
11, 450
11, 550

-h-u-m..-

4,2,
3.4
14
35k

48,

49,

50.

el el @ e 1 R S BRI

(A)
(B)
(©)
(D)

100 ¥ 400 % 4 3 6 ¥ o o e

(SR
e e

2,6,6,8,4,2,7,9

[ - - -

F1 A T P

(A)
(B)
(©)
(D)

12,550
12, 450
11,450
11,550

[Series-D]
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s1.

1f a 30 m. 1
wall such 1
wall, then !
o

(A) 4
J» X
(<) 6
oy =

572, Find the

4

(A)

(<)
)

53, lInser
DU
(A)

53.



51. It a 30
30 m. ladder is
placeg
wall such that agains
Just reachey g, 8 1Sm 59 ofa U@
the o 11
P of the o

0 fiz & #g ®

wall, thea the clevation of g, ;
[ t wall is cqual far g TR T
i;" as® i
3] e .
we &
© 60 o el
(D) s0° . %
kB\ ki)
S
(m 50°

52. Find the missing numbers :

5 a8 3 a
OO O
X 2 -

S &
& O
[ i

(N 50
AB) 51 <
() 53 AL
(D) 48 ®) ﬂ!
(C) 53
53. s 5 ;
Insert }hc mfmcncal signs in the followin < i
pumericals figure : 382] =14 £ S3.
Eg: i ST - 8821 =14
O .
-..‘D} +| -— I\C} =
4 L o E
i i 4. afe s4=x13=8
37 x 13 = 6 L 3 13 o
26"11:6 ;‘-"*13=£'
then 56x2=7 '-’..6=~11=6
(A] 36 I'h 56 x 2= ?
® 39 . [AE
(©) 07 (B) 39
@ I oy
(D} i1
55. Directions: Identify the possible argument: ss. s
Statement - Should students study in carly .
hours of morning ?
Arg.l: Yes, mind is fresh and alert at that
ume.
Arg_z v No‘ eafly ﬂﬂfs feﬁi S‘eﬂp}'
throughmllthcdl)’-

Only Arg. 1 is strong
()  Oly Arg2 i SHUE
(D)  Neither 1 00 2 is strong

L]
b |.
L e

& WY
i

¢ Wiy @ fam A Far

ﬁsﬁﬁiﬁmﬁﬁﬁm"ﬁﬁ




58.

59.

6l.

62,

i

ECTION-IV
(@ve.iv)
AWARENESS

LA s

s6.  Prefafm gy prevppm 1 FERe 5

al order
o
3 chronive,
following ! 70 4 rhani®

ange the
6 iiblis SOV jet asfon ¢ ‘"” N
i ,‘n“ of the |4¢-r]m‘ W : So\‘i"' Union

" 1 0 1

Disintegratio!

o Russtan R(‘\"Ullllluﬂ
v , AR
{A) i, il @i, ¥
{B) i, i, iv, i
(C) iv, i, 1.1
(D) iv, i 01, 1

jra Gupta
7. The group of 18 officers of Chases
Maurya was called :

(A) Amatya
(B) Rajjuk
(C) Mantriparishad
(D) ~ Tirtha
Which is a central problem of an economy 2
(A) Allocation of resources
(B) Optimum utilisation of resources
(C) Economic developmentl
(D) All of these
A computer system includes :
(A)  Hardware
(B) Software
(© Peripheral devices
(D) All of these
IC chips used in computers are made with :
(A) Gold :
(B) Silicon
(C)  Copper
(D) Silver

What is the speed of computer measured it ?

(A) Nanoseconds
(B)  Kilo seconds
(C)  Gigahertz
(D) Megabyles

Entomology is the science that studies :

e R aiffraa e
afir oy Zrar o fe
aYfyma g @ e

& i

P
il

W:‘\) i, i, iil, 1v
(B) i, i, iv, 1
(C) v, iii, i, §
57 Lff_{“f;ﬁ v, i, i, il . N
57.  wEw @ 3 1 wemand $ WE
Rl AT o7
(A I
(B) T
©) #foRwe ,
(D) e
58 pefeyaven e o -G 2
(A) GOl o1 AEeq
(B) HOMAl &1 IAH ST
(€ adF o™
«(B2) T T
59. U@ PR Riwen i Wi e d
(A) EERR
(B)  Hiveam
(© i suE
P aE

60. PRI ¥ Y €M el IC o foes
Bl & ?

(A) O
«B) 2}
€ R
(D) TR

61. e B Y e Ard e R ?
(A)  Fers
1) e davs

(©) ‘
p)  WIEREE
62. I figH 98 ReH & o s o g

(A) Behaviour of human beings aqen
A4 e R
¢ origin and history of technical - '
P el ©)  TEd AR deie wal @
(D)  The formation of rocks @ i &
(D)  ¥EEl B TS @l
[Series-D] [CET-BED : 2023]
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I 'IBI.' 6 = w ] 43 .. - g7 7

|2 €6c¢ [ 000e 7| &
|| l]I l_"_’bli Lalff:. [(‘C |I “ ‘ 'I'_-i o i) .I bt “;
| | | g Nen A ] ‘g
‘oC 7| @
= =
7| W
72| W
63. M > |3 G
3. Most highly intellige . =l Bty - P Ao
(A)  Whales el are i T G B 0 Lol
: 63, wd = — 75 [ (AS
(B) Dolphins ) wal '
(C) Elephants (A P | —.
(D) Kangaroo B Tt | Signature
(c) N izt
: 53]
64. When a bottle of soda water : ool " .
carbon dioxide escapes, pm,;l;c;; opened, g o WETETEY # @ e dell il ? o . \ y
This is due to : g a fizz, i SIEARIES Pra wrd) @, R W@ N, oA
e ety 4 oo B B g e R ('
: L AT TR e # wA
(B) Decrease in solubility on inCreasi (A) Ted i it
temperature Hng B Al AT W Wq )
(C) Decrease in solubility on decreas: 4B) Eﬁ-’ﬁ =ad T W?‘ﬁm # FHl
ressure sing (© e
pressure b =3 4 ® Qﬁ%ﬂﬁiﬁ‘ﬂ
(D) Decrease in solubility on increasing @ % R '
pressure
65. The three levels of biodiversity are - S o |
(A)  Geneii, species and biome . s e
(B) Molecular, specics and biome [A) . s 4
(C)  Genetic, population and ccosysiem (p) M9, _”‘_’"m,u' e oy
(D)  Genelic, species and ecosysiem € IR, e iR

oy i, ye R aRfeRE
66. Which is/are the abiotic components of an g, UREs @ Fuifad gch - /R ?

ecosystemn 7

(A)  Soil (A) ﬁ%ﬂ
(B) Prolein (") u
(C) Carbon () T

(D) Al of the above o) TR ol _ -
67. Which of the following organism breathes  67. fim & § -8 W @A ¥ WH AT ¥

from skin ? @
(A) Snake *
(B) Earthworm J(B_) ;2..:‘“
(C} Monkey E:D)) E{:ﬂ:{ _ -
(D) Humans . | A # S
68. Glycolysis process occurs in which part of 68. Tﬂﬁriﬁﬁﬁ g @ @ :5_
the cell ? Ehl § ! :
(A)  Cytoplasm (A)  EIEeren =
(B) Nucleus (B) 3 A
(C) Mitochondria &) m&;ﬁm - :z: =
(D) Chloroplast (D) ; . : 5
. i inthe : gv. sty i B A o R »§==
69. Inamoeba food is digested in the - Ay A < =i
"~ (A)  Food vacuole _%i’ 5 2
(B) Mitochondria {(C) “‘53‘“‘“{55”'% E_f |
pseudopodia SELIER v #
o Chloroplast (D) FARTATES 4 S i r
- o 70, PefuRed R & BE-EOCOHO0 2
70. Who among the following is the invention® SR 2 ? %
: J.C. Bose ? A s
{A) EIECU‘O“' f]..ghl “ ) e i m
(B) wavelength theory 01 11 (B) VORI PN el .
Cosmic radiation © s R 9
Eg)) Ultra short rad10 w.avcs D) I o M 5%
[Page- 1] £
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ats & ™
2 i type of chemens
Which [YPe

T 1
o hent and electriel
: % Aeials
B) Noo-metals
- Gases
';nl Noac of B |
\ +g of planct
orbits
Which law describes the
- i)
" ground the sun ? ‘
A)  Newton's law
,f}}) Faradsy's law
5 [epler’s law
{0 Kep
(D) Kirchoff's law

llowing condilions 15 MOsl
r:it;iftatzi g c‘r:‘:nveﬁm%g a gas into 2 liquid?
(A) Iigh pressure, low temperature
B) Low pressure, J'(:vw temperature
(C)  Low pressure, hi igh temperature
(D) High pressure, high Tempcrar_ure

74

75. Which of the following is not a true

76,

77.

78,

(B)

amphibian animal 7
(A) Tortoise
(B) Frog

(©)  Toad

(D) Salamander

In the context of Internet, what js the full
form of URL ?

(A)  User Requested Link
(B) Ultimate R
(C) '

Who is known as
Revolution in India ?
Verghese Kurien
(B) Sam Pitrodg
(C)  Hiralal Chaudhary
D) Ms. Swaminathag
Who was the irst Chief Jusiice of India 7
(A) S.R. Das

74.

76.

77.

L) L

"H.' ;‘_—_-‘-_:

(C) Ues

(D) Sk % G

PR S T Tt 2% U5 E> 2

(A) ~I7T o Fam

B) %92 3 8=

1€) DAY B g

(D) o= 5 B

7 # -8 R T e ©

B) = T = s

(C) 59 T T oS

(D) i TG, T T

Fefofea ¥ 3 S TR T
aroft 78 § 2

(A) Fgar

(B) %@

) s

(D) Wi

AR E e - TRaY
(B) it wiasw we

© =B 5579 s

D) T AR S

(A), . . T
(B) ¥mfEg

€ e

@) Tt T

NG S PR e e o g 2
(A)  THosm0 T

(B) RE= %o w
(©)  vo® wer

(D) ¥R T TEw

[CET-BED : 2023)




79, ‘Konkan Naval
between wh

1 Exercige" |
1ch twe

BB E B 3 fh"F \IWTI'I‘I"‘
: e iy COndug e B .Ml:m; WA 9 7 2 "
Countriey ym o | y
(A) India — Bnnglnd‘-&h f WA — aiErdy
(B) India — gy Lankg (A) e — Arsbant
{C) India Uniteq Kingdom (B) WA — s fTen
(D) India — China () R e
PR SBemged F-“ﬁ?ra-li : " CuMtural  feggiyas 80, ti?f:ﬁ Ll T-?m T3 e e
celebrated in w hich state 9 e T & ?
(A) West Bengal ARl ofoon i
(B) Odisha (A) :
(C) Manipur (B) anfEem
(D) Assam (C)
: : r @y, FrEr
81.  Who is the author of the bgp) ‘Fiarta T & oEF ;
Govemnance® ? e ul. Wﬁn :H?T!%:awﬂi?f
(A) V. Narayanasamy (A) s
(B) Swali Chaturved; (B) N “_ﬂﬁ ; L
(C) P. Chid&mlbaram (C) Elu; uf”fq;aﬂw j
(D) Kiran Bedi _ (D) R0y .
82.  Which actor’s autobiography ¢ titled 82y RN 9 AR @ Wiw g g
‘Khullam Khulla' ? 57 i
(A) Ranbir Kapoor (A) TR &R
(B) Raj Kapoor (B) W TR
(C) Rishi Kapoor (©) R TR
(D) Rajiv Kapoor (D) Mg R 2
83.  The Jnanpith Award is given for excellence g3 R ﬁmﬁ;{f&ﬂﬂﬁ fer &1 3 e
in which of the following fields ? & fom R v & 7
(A) Medicine (A) == :
(B)  Social Work (B) W v
(©) Literature _{C; gl‘ﬁEqT
e e FE AR €7 T
- | $ in which sport ? 84. IR @ f e ¥ aRE
84.  Jahangir Khan is famou B :
(A) Squgsh - (B) ﬂ‘ﬁm bl
(B) Boxing ¥ T ‘
icket
(©) Cm:: : (D) ﬁ?’ A T IR P e
(D) Hockcy J ﬁmal Tennis 85. fi=fefEq R R & 2 ?
85, Which of the following fytqemgfional T B R
" Tournaments is held on B@ss copgt (A) % m:mq ¢
(A)  French Open (d) D TN S )
@) LbOp. g o ©  dfem )
Brdamepos. Lo TR
Wimbledon 6 £
L i g b B o ey
What is the ca hyli6us batterum Prire
o A)  Non-Chlorophy y (B)
gn) Nematode € I
Fungus R 87. fred A 4@ wriow
(D) it of Kidney is : &l T W
basic functional unit 0 (&) At .
TR Henle'soop \fﬁ; Al
Nephron
idi )  foufe
- [Page- 13]
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o MK
Augnit in celebrate i
[ (1T
u ; pimrth Dny "
> Sadbhavana I
{ \ )
b No Tobadco Dy
) i
it
(o

None of these
n
., gpoke

The oldest among the P

literary

"*"’ languages of South India 18
1’-: J* Kannada
(B) Malayalam
(C) Telugu
(D) Tamil Langunge

5 (NBFC)
A Non-Banking Financial Ln.n'r:‘j:’:”y it
J:\ 4 company registered under o > S
(A) RBI Act, 1934
(B) Company Act, 1956
(C) NBIC Act, 1956 he "
(D) Government Securities Regulation,
1913

?l.  Who was the first Indian to receive Nobe]
Prize in literature 7
(A) Mother Tercsa
(B) C.V. Raman
(C) Rabindra Natp, Tagore
(D) Sarojini Najdy,

)

92, Which institution released the Feport (itjeq
“Tobaceg : Pojsoning Our Planeg 2
(A)  NITI Ayog
) World Health Organisatjon
(C) UNICEF

(D) Minj
‘F.N'e!f:trrg'r
93.  Who among (he f‘oHowing is the Governor of
Bihar 2
(A) Shiv Pratap Shuk|a
(B)  Phagy, Chauhan
(C) R'S. Gavaj
(D) Rajendr, Vishwanagh Arlekar
94, Who Propounded s stem analys;
David Eastjt’;n di Alinch?
(B)  Gabriel Almond
(C) Robert Dap;
(D) Catlin

of Health and Family

95.  Which God came to oce p

) e
position in the Later Vedic P::-iou:j ?ﬂlpmme
(A)  Indra
(B)  Agni
(C) Prajapati
(D) Pushan
[Series-D]

Y

90,

91,

92,

93

FaTfy
D) gy

20 e @) fm w9 % wargy W 4 4
(A) ) faay

(B) e ey

(C) e 2

D) & orf
“fror sren # h o

T iy

ot 4 gt # 7 "
(A) =

(B) TAqTAY

(C) rfr:fzI

D) aftw

V6 - fehg FHA (8 4 %

()

2 TEN U v ok 4

(A) SRodtosréo affrm 19%4

B)  FugH Ude, 1958

(€) THodtovsodt FIfrm, 1954

D) sy wferf R, 194

IR 3 ey TR 9 1 g g 98

(A) Ay amany
B) R wmwyg LK
(C)

(D) Wsﬁ?‘rﬁmmﬁm

ﬁwﬁw’f@aﬁﬁmﬁm*mmg?
(A) R gy yey

(B) vy g

(C)" amotww 7o

(R)1s0 o gy Ifev

w%wwmw
(A) . 3% ew

B) Mg e

(C) o' e gry

D)  Pefem
W#&mmﬁ%ﬁﬁmﬁmm
VI TS g 2

{A) g

B) gfy

(C)
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T(‘ﬂch‘
ng R \
(A ij;‘am"]g process is a journey from:
(B) Rnnu‘ﬂ‘? Lo abstract
now
(©) W o unknow

&
(D) Ap "¢t complex

104, Effcciivcncss
termg of ;
(A)

Of teaching has to be Judged in

Syllabug Coverage

B
'{[C; Students interest ]
: Use of teaching aids In  the
& classroom
(D) Lcnming outcomes of students

10s. Leamning may be :
(A) Formal
(B) Informal
(C) Formal & Informal
(D) None of the above

106. The main task of educational computer is :
(A) Preservation of data
(B) Scoring the answer
(C) Analysis of data
(D) All of the above

107. In which approach of team building, leader
forms an artificial team where members
interact, discuss and learn from other
member behaviours : '

(A) Team roles approach
(B) Simulation approach
(C) Action research approach
(D) Role negotiation approach

108. In what sense teacher provide mentor

leadership ? .
(A) {Je uses his mental capacities
teaching.

(B) He imparts knowledge to students

(C) He imparts life skills to students :
(D) He influences his learner with his
own mental attitude, knowledge

skill and character

SeriesD]

103,

(A) B & up
“{l LG I
-y . W W wfew
thi BT
. egor #) wraferr @ fw dond ¥ ot
ST EifRe i
(A)  Remau wars
(B) w®rfRa
©)  wem % e wems amd
BYA FYdh
«Bf ol b @ B s
105. g &1 e &
Ay v
(B)  sWAR®
—~+€)  dmERs sy s
(D) & 9 BT T
106. 9eF TR B 5 Bl B
(A) ST P WE
(B) TR TR FY
(© s @ fagem
D) TREE T
107. &m fio & fa gfeam § @ 5@ @
SO T T & TRl e 3 vl §
TIER | AT FYA ¢TI B &, AN
W €
(A) oW Eﬁ?ﬂ g A/ JATH
®) g e gReam
foraren T gfedIT
@ et e
108, fones R are ST A WA N
87 e
() ® w3 fr e
@) @ o P G W& FRE 8
) T ol @ e e T
d
7 o Rl @ o AR

Frayor. -y gy

a1 s uren @

qftam‘rvl,ﬁﬁﬂﬁ““ﬂ”mﬂ

' Wﬁaiﬁw%
e TR
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109, Who was the
medal in Ol

(A) Mil
(B) Kat
i P.T
() Kl

110 . Which of t

financial s

the Reserv
(A) Ce
(B) M
(C) St
(D) Al
11 Beng the

(A) Se
(B ¢
D S

112. Consider

Vi
Select ¢
(A)
B)
)
(D)

113. Whal
Stag
cusri
(A)

(B)
(©
(D)

PR
[Seri



N T I LR | ]
22| ' Y % WeEE G .y
|23| - : 47 4 L S | ﬁ'
[ Al L 40 e Ol | S
| ] Qe “ @ i 2| o)
! ! 4 73 r :
[ 25 | a Al I : N \ p
" 5| NPO4 o - |
| ; 75| EE &5
5'9""“'U'ﬂlMC¢nd,l|,1 — l'""# S l_l |
: s'ﬂm!und‘*'_.'!"" g II II
|
109.  Who was the firs Indian t5 .
medal in Oly Mpigs Q Win gp i"‘“"fdu J
A ML o L 5
{{“}} E{i‘]klld Singh 19, shaftrs #§ afya e d T
(©) P 1L‘TJH]| Malleshwari urefra 1 & 7
BT (D) KD 1;‘1]:1\, (A frea Rie
" (B) T Teowad
(€) oo Fmr
110., Which of the lowihe g
financial s‘_ct;i_ g;‘:nﬁ_ls;are linked wigy g, | (D) oo T
. Ndia and 10. p
i the Regerve Bank of [ngs ;{BT;-*I:I:OHN b E[;[Fi‘ﬁ-‘{ﬁg"d L -/ aw & faedrg
(g) Commercial Rk - : 4 Gj‘\g;’[ gan 8 e_.ﬁq Tl e I
(B) Money lenders (HTTD?TIOS’IT;U} T e ey e 2 2
1) Stock exchange operationg AT TR i
(D) All of the abgye (B) WREK
(©) T e dee
T . (D) SWE T
H1- Being the science of wisdom, Philosopby 111, s R @ @ o o Setw
aims at : SR ERCEIGES AT <3+ & B
(A)  Search for activity (&)  RRE 7w
(D) Search of reality (B) IaR®ar 31 @
(‘E}: Seamr O:‘ probability (€ I F @
carc ily
112 e, (D) ST A T
. Consider the following statement ro :
cgarding 112, : ENiky
the foundational pillars in NEP 2020 - ~ : gﬂu#mu 220 ¥ T W@ W 3
i, Accessibility Mefeien @i w fam # -
ii. Affordability i FfRE
iii. Accountability s i |
iv.  Quality i,  SIAERE
V. Equ:l’y i'!l’. Euﬁ?n'
V1. Access v G5
Select correct answer given code below : : o
(A) ©'i, i, iii, iv.only ;rﬂ 57 B o
(B) i, i, iii only RIS &)U T
(© il iv,v (A) e, i i, iv
(D) i, i, iii, iv, v, vi (B) Wi‘ i, il
(C) i, i, i, iv, v

) 1, i, iii, iv, v, vi

113. What are the classes which cover at "Middle  113. vHogodlo & 7§ wreTEa WRa @ SR

Stage” according 10 NEP 2020 new R e e - 59
curricular structure ? ow S e
(A) Class 11 to 12 B wwdo

(B) Class 06 to 03 P

() Class09t0 12

D
(D)  Class 06 to 09 (D) &I 06 W 09

e —
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SNAERET LT IR @ Dvpe of
) Eacovery method
1) Discussion method
<y Lecture method
3] Pemonstration method

L}

s Why is teacher training nevessary 7

(A) Increase teaching skill
) Understand  mcthods  of school
argamsation
(©) Upgrade knowledge of content
() All of the above

116, The four majy divisions of philosophy g0
metaphysics, epistemology, axiology and
(A) Bioethics 2

(B) Logic
(C) Aesthetics
(D) Categorical logic
117. Emotions and cognition are each
other. TRy
(A) Completely separate from
(B) Independent of
(C) Inter-woven with

(D) Not related to
[18. Problem of wastage and stagnation is
primarily related to which level of
cducation?
(A) Secondary level
(B) Primary level
(C) Special education
(D) Higher secondary level

119. means something that can be used
to help actii an aim.
(A) Replacement
(B) Resource
(C) Source
(D) Foundation

120. ‘Rule of law’ is important because :
(A) Tt helps in the control of
administration
(B) It provides protection
() It lays down rule and regulation

(D)  Aboveall _ e
BED : 2023]
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L. R’ g W 9 8
(A) Eorer AR (O
(B) aal faf
(C) areen fafy
(D) wererE [afy
115, fers uftreror #0f smaeas & 7
(A)  Rmw #he Rele 59 &

®) e Wren & adwt 5 L

&7
(©) Rea—sm & fehg 7 7
y  Sudd o

116, g3 @ an Yy R @
HHir, @ ﬁ#&{ ﬁ?-ﬁ.‘{aﬁ—( WT?—'!?!?-:{
(A) Vi Rés
(B) @
© W=darg
(D)  svfeg

T I SR T e e g
(A Rega s

(B) wda
JCYT B g g
(D) 9 Wl 8
8. e IR S B Wi 7@
e & fov W weRE 22
(A) TP wWR
By TfE W
(C) fifire Ry
(D) = TR W
119, @1 Heierd G Ge @ e S
fft e & wra v H Ao @ o R
1 T B
(A)  wfoeee
(B)  wHEmEH
(C) W
(0 il

120. 1 e ARyl & i
:ﬂ? T I 3 PR H e

WerH &Y &
B Wﬁmaﬁ?ﬁﬁwﬁa’fﬁaw?

\}/mm
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